
GENERAL NOTES:

Round upper edges

•"

9"

 

9"

•"

4
"

1/2" Radius

Ë Cut

 

at 60°F

` 8 x 6 x 3/4 (Continuous)

1
"

3•"

7"

(Typ.)

x 3" slotted holes

3/4" Plate with 13/16"

(Typ.)

1 1/4" Finger Plate

(Continuous)

` 8 x 6 x 3/4 

}

(
T
y
p
.
)

x 3" slotted holes

3/4" Plate with 13/16"

 

 

1

11  3" (Min.)

x 2" vertical slotted holes

3/4" Mounting Plate with 13/16" 

x 2" vertical slotted holes

3/4" Mounting Plate with 13/16"

to exposed concrete surface

bents and piers (Urethane) or (epoxy)

Apply protective coating to concrete

 

 

 

1 1/4" Finger Plate

FINGER DETAIL

OPTIONAL FINGER DETAIL

1
‚
"

„
"

Bend Line 1
‚
"

„
"

3"

3"

be achieved by localized internal vibration.

angles and bars.  Proper consolidation shall 

finger plate supporting hardware, anchors, 

Concrete shall be forced under and around 

Note:

 SECTION C-C

Š

B

Shop or field weld

1 1/4" Finger

Plate

Const. Joint
Fit

Tight

A

and recess

between plate

Roofing Felt

30# (Min.)

2-Layers 

outside of gutter line

Finger plate may extend 1"

C C

‚"

‚
"

‚"

BA

4"

 

†
"
 
R
e
c
e
s
s

*

BR *

*

*

Checked           

Detailed          

Note: This drawing is not to scale. Follow dimensions. Sheet No.    of     

5
8

Ë Fingers

6

2 7

4

6

3

29

3

9

at 60°F

at 60°F

 

10

at 60°F

11

* Dimensions along Ë Girder

•"•"

2"

2" (Typ.)

\

3•" 7"

4
•
"

8•" 8•"

5/8" Recess

 SECTION C-C 

‚
"

‚"

‚"

C
C

B

Fit

Tight

A

and recess

between plate

Roofing Felt

30# (Min.)

2-Layers 

9

11

4"

BA

29

3

at 60°F

at 60°F

 

ELEVATION OF BARRIER

` 8 x 6 x 3/4 (Continuous)

1
"

3•"

7"

1/2" Bent Plate

x 3" slotted holes

3/4" Plate with 13/16"

x 2" vertical slotted holes

3/4" Mounting Plate with 13/16" 

1 1/4" Finger Plate

3 at 60°F

1/2" Plate

1
"

1/2" Bent Plate

x 3" slotted holes

3/4" Plate with 13/16"

slotted holes

13/16" x 2" vertical 

3/4" Mounting Plate with

(Cont.) (Typ.)

` 8 x 6 x 3/4 

1 1/4" Finger Plate

3 at 60°F

Round upper edges

1/2" Radius

at 60°F

Ë Cut

Ë Fingers

 

 

6

8
5

2 7

1
"

x 3" slotted holes

3/4" Plate with 13/16"

slotted holes

13/16" x 2" vertical 

3/4" Mounting Plate with

(Cont.) (Typ.)

` 8 x 6 x 3/4 

1 1/4" Finger Plate

3 at 60°F

RA TYPE D BARRIER

1/2" Plate

Ë Fingers

1/2" Radius

Ë Cut

Round upper edges

7 2

6

1
"

1/2" Bent Plate

x 3" slotted holes

3/4" Plate with 13/16"

(Continuous)

` 8 x 6 x 3/4

vertical slotted holes

3/4" Mounting Plate with 13/16" x 2"

1 1/4" Finger Plate

3 at 60°F

LA TYPE D BARRIER

1
"

Ë P/S Girder

x 3" slotted holes

3/4" Plate with 13/16"

(Continuous)

` 8 x 6 x 3/4

vertical slotted holes

3/4" Mounting Plate with 13/16" x 2"

1 1/4" Finger Plate

3 at 60°F

1/2" Plate
free movement of plate.

Recess barrier to permit

FING01

7"

3•"

•"

•"

 

 

  

4
"

9"

 

9"

3•"

7"

3•"

7"

2
"

2
"

•" •"

at 60°F 

9"  9"

3•"

7"

 

 

  

 

 

1

LA
RA

FINGER PLATE EXPANSION DEVICE AT END BENT NO.  

PART PLAN OF FINGER PLATE

12

face only) (Typ.)

abt. 12" cts. (Roadway

Ë 3/4"Ó Vent Hole at

(Typ.)

at abt. 9" cts.)

(Spaced alternately

Connector Studs

Welded Shear

3/4"Ó x 8" Long

in continuous ` 8 x 6 x 3/4

13/16" x 2" horizontal slotted holes

3/4"Ó Machine Bolts and Nuts with

for grout for anchor bolts)

washer  (See Sec 712 & 1066

Anchor Bolt with nut and

girder) and 3/4"Ó x 7"

Well (Cast in top of P/S

Ë 1 1/4" x 2" x 4 1/2" Slotted

SECTION THRU DEVICE

PART PLAN OF DEVICE

SECTION A-A

SECTION B-B

BARRIER PLATE

AT END OF

 PART ELEVATION

about 9" cts.) (Typ.)

(Spaced alternately at 

Shear Connector Studs

3/4"Ó x 8" Long Welded

` 8 x 6 x 3/4 

slotted holes in continuous

with 13/16" x 2" horizontal

3/4"Ó Machine Bolts and Nuts

x 7" Anchor Bolt with Nut and Washer

(Cast in top of P/S girder) and 3/4"Ó 

Ë 1 1/4" x 2" x 4 1/2" Slotted Well 

Bevel

roadway face

plate on 

Bevel barrier

Welded Shear Connector Studs

Ë Three 3/4"Ó x 6" Long

Plate

Barrier 

1/2"

with barrier)

(Form flush 

1/2"x   " x 14"

Barrier Plate 

LA TYPE B BARRIER (SBC)

RA TYPE B BARRIER (SBC)

SQ TYPE B BARRIER (SBC)

TYPE B BARRIER (SBC)(ALL)

free movement of plate

Recess barrier to permit
at abt. 12" cts. (Typ.)

Ë 3/4"Ó Vent Hole

about 9" cts.) (Typ.)

(Spaced alternately at 

Shear Connector Studs

3/4"Ó x 8" Long Welded

Bolt with Nut and Washer

girder) and 3/4"Ó x 7" Anchor

Well (Cast in top of P/S

Ë 1 1/4" x 2" x 4 1/2" Slotted

` 8 x 6 x 3/4 

slotted holes in continuous

with 13/16" x 2" horizontal

3/4"Ó Machine Bolts and Nuts

at abt. 12" cts. (Typ.)

Ë 3/4"Ó Vent Hole

about 9" cts.) (Typ.)

(Spaced alternately at 

Shear Connector Studs

3/4"Ó x 8" Long Welded

free movement of plate

Recess barrier to permit

Bolt with Nut and Washer

girder) and 3/4"Ó x 7" Anchor

Well (Cast in top of P/S

Ë 1 1/4" x 2" x 4 1/2" Slotted

` 8 x 6 x 3/4 

slotted holes in continuous

with 13/16" x 2" horizontal

3/4"Ó Machine Bolts and Nuts

PART PLAN OF DEVICE

PART PLAN OF DEVICE

free movement of plate

Recess barrier to permit

Bolt with Nut and Washer

girder) and 3/4"Ó x 7" Anchor

Well (Cast in top of P/S

Ë 1 1/4" x 2" x 4 1/2" Slotted

Ë Girder

Ë Girder

Ë Girder

` 8 x 6 x 3/4 

slotted holes in continuous

with 13/16" x 2" horizontal

3/4"Ó Machine Bolts and Nuts

about 9" cts.) (Typ.)

(Spaced alternately at 

Shear Connector Studs

3/4"Ó x 8" Long Welded

at abt. 12" cts. (Typ.)

Ë 3/4"Ó Vent Hole

PART PLAN OF DEVICE
PART PLAN OF DEVICE

free movement of plate

Recess barrier to permit

Bolt with Nut and Washer

girder) and 3/4"Ó x 7" Anchor

Well (Cast in top of P/S

Ë 1 1/4" x 2" x 4 1/2" Slotted

Ë Girder

about 9" cts.) (Typ.)

(Spaced alternately at 

Shear Connector Studs

3/4"Ó x 8" Long Welded

at abt. 12" cts. (Typ.)

Ë 3/4"Ó Vent Hole

` 8 x 6 x 3/4 

slotted holes in continuous

with 13/16" x 2" horizontal

3/4"Ó Machine Bolts and Nuts

free movement of plate

Recess barrier to permit

Ë Girder

abt. 12" cts. (Typ.)

Ë 3/4"Ó Vent Hole at
x 7" Anchor Bolt with Nut and Washer

(Cast in top of P/S girder) and 3/4"Ó 

Ë 1 1/4" x 2" x 4 1/2" Slotted Well 

` 8 x 6 x 3/4 

slotted holes in continuous

with 13/16" x 2" horizontal

3/4"Ó Machine Bolts and Nuts

about 9" cts.) (Typ.)

(Spaced alternately at 

Shear Connector Studs

3/4"Ó x 8" Long Welded

PART PLAN OF DEVICE

roadway face

plate on 

Bevel barrier

BARRIER PLATE

AT END OF BENT 

PART ELEVATION

SECTION B-B

Bevel

ELEVATION OF BARRIERSECTION A-A

Barrier Plate

Bent 1/2" 

Welded Shear Connector Studs

Ë Three 3/4"Ó x 6" Long

Shear Connector Stud (Typ.)

3/4"Ó x 6" Long Welded

(Form flush with barrier)

1/2"x   " x 15"

Bent Barrier Plate 

PART PLAN OF FINGER PLATE
PART PLAN OF FINGER PLATE

abt. 12" cts. (Typ.)

Ë 3/4"Ó Vent Hole at

12 Delete panel for CIP slab.

   under barrier at end bents.

   slab detail sheet. Consider similarly projection beyond front face of angle

11 Include details of slab projection beyond Ë W-beam under barrier on plan of 

10 Gap between girder or between girder and end bent.

 9 Plate length = (18"+ 6 )/cos(skew)

 8 Transverse gap between fingers: not the same as 5 for skewed joints.

 7 Finger length.

 6 Maximum gap between fingers normal to joint @ 60°F.

 5 Transverse gap between fingers

 4 Gap adjustment for temperature: along bridge longitudinal axis

 3 For end bents: 2 + 1/2"/cos(skew)

 2 Gap between fingers, barrier recess gap and, for intermediate bents, gap in barrier.

   Not a guidance note. Do not replace.

(For all finger plate drawings. Some notes may not apply to this sheet.)

STANDARD DRAWING GUIDANCE (do not show on plans):

(Typ.)

Connector Stud

Welded Shear

3/4"Ó x 6" Long

Const. Joint

field weld

Shop or 

outside of gutter line

Finger plate may extend 1"

Š

Plate

1 1/4" Finger

roadway face

plate on

end of barrier

Bevel free 

roadway face

plate on

of barrier

Bevel free end

FING01_psi_end     Effective: July 2020     Supersedes: Apr. 2020

nondestructively tested by an approved method.

fabrication of the expansion device shall be 

Complete joint penetration welds utilized in the 

 

mounting plate at the expansion device.

ends shall not be more than ±1" from the 3/4" vertical 

Longitudinal reinforcing steel shall be placed so that 

 

foot.

unit price for Expansion Device (Finger Plate) per linear 

will be considered completely covered by the contract 

installing the structural steel for the expansion device 

Payment for furnishing, coating or galvanizing and 

 

be protected from overspray.

galvanized in accordance with ASTM A123. Anchors need not 

thickness of 4 mils minimum, 6 mils maximum, or 

inorganic zinc primer to provide a total dry film 

plate shall be coated with a minimum of two coats of 

Structural steel for the expansion device and barrier 

 

device shall be in accordance with Sec 1037.

Grade 36 structural steel. Anchors for the expansion 

Material for the expansion device shall be ASTM A709 

 

at installation.

decreased    " for each 10° fall or rise in temperature 

expansion gap and other dimensions shall be increased or 

Plan dimensions are based on installation at 60°F. The 

 

installed to the crown and grade of the roadway.

cut. The expansion device shall be fabricated and 

finger plate assembly will be allowed after fingers are 

centerline of cut shown. No splicing of finger plate or 

shall not deviate more than 1/16" from the position of 

cut shall not exceed 1/8" in width. The centerline of cut 

shall be perpendicular to the surface of the plate. The 

be spliced before fingers are cut. The surface of cut 

from one plate. The plate from which fingers are cut may 

Finger plate shall be cut with a machine guided gas torch

FING01_psi_end.dgn 10:41:21 AM 8/5/2020

DOCUMENT."

A CERTIFIED

NOT BE CONSIDERED

"THIS MEDIA SHOULD

COUNTY

JOB NO.

CONTRACT ID.

ROUTE STATE

DISTRICT

D
A

T
E

D
E

S
C

R
I

P
T
I

O
N

MO

DATE PREPARED

BRIDGE NO.

PROJECT NO.

SHEET NO.

8/5/2020

I
F
 

A
 

S
E

A
L
 
I

S
 

P
R

E
S

E
N

T
 

O
N
 

T
H
I

S
 

S
H

E
E

T
 
I

T
 

H
A

S
 

B
E

E
N
 

E
L

E
C

T
R

O
N
I

C
A

L
L

Y
 

S
E

A
L

E
D
 

A
N

D
 

D
A

T
E

D
.
 
 

PROJECT NO.

1
-

8
8

8
-

A
S

K
-

M
O

D
O

T
 
(

1
-

8
8

8
-

2
7

5
-

6
6

3
6
)

J
E

F
F

E
R

S
O

N
 

C
I

T
Y
,
 

M
O
 

6
5

1
0

2

1
0

5
 

W
E

S
T
 

C
A

P
I

T
O

L

C
O

M
M
I

S
S
I

O
N

M
I

S
S

O
U

R
I
 

H
I

G
H

W
A

Y
S
 

A
N

D
 

T
R

A
N

S
P

O
R

T
A

T
I

O
N


